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IR pacckasa 0 NPOCTbIX apUPMETUYECKNX AENCTBUSAX, NPU
cyete ("maths"), ncnonesymnTe cneayrowme Ha3BaHUA
CMMBOJIOB:

+ "plus" - natoc
- "minus" - MUHYC
X "times" nan "multiplied by" - ymHOXU1Tb
+ "divided by" - pazgenuts
2"power" nnu "degree" - cteneHb
v "root" - kopeHsb ("square root" - KBaApaTHbLIN KOPEHb)
= "equals" - paBHO




O03bMeM npoctou npumep ("sum"): 5 x 6 = 30. No-
aHIIMUCKUM Bbl CKaXkeTe Tak: five times six is /
equals thirty.




a) 2+5=7 - Two plus five equals seven / [1Ba natoc NATb paBHO CEMb.
15-5=10 - Fifteen minus five equals ten / [aTHagLaTe MMHYC NATb PpaBHSETCS

LECATU.
€) 6x6=36 - Six times six equals thirty-six / LLlecTbto WwecTb paBHO TpUALATH
LIeCThb.
)9+3=3 - Nine divided by three equals three /| leBaTb pa3zaennTb Ha Tpu paBHO
TpW.

e) 45-15=30 - Forty-five minus fifteen equals thirty / Copok naTb MuHyc
NATHAALATb PAaBHO TPUALATh.
f) 44=256 - Four to the power of four equals two hundred fifty six (4 raised to
4th power is 256) /YeTbipe B YeTBEPTOWM CTENEHM PABHO ABYMCTAM NATUAECATU
wecTtn (Yncno 4, BO3BeAEHHOE B 4-YIO CTereHb, PaBHO 256-TH).
v/9=3 - Three is a square root of nine / KBagpaTHbI KOPEHb 13 AEeBATU paBeH
TPEM.



[lepesedume Ha pycckuU A3bIK:

1) 1/5 HaceneHusa Poccmm nsyyaeT aHrIMUCKUA S3bIK
2)§7.3 NPOLLEHTA YYEHUKOB CMOM/IN CAE1aTb 3TO YNPaXXHEHME
3) Y 10% ntoaen, paboTatowmx Ha TOM 3aBOAE, €CTb
cobCcTBEHHbIE MALLUUHbI
4) 7+3=10
5) 18-6=12
6) 55%5=275
7) 5OO/250=2
8) Ckonbko byaet 783%347




Hanuwume cnosamu:
5O+12 = 62
12+13 = 25

77-76 =1
86-16 = 70
12*%3 =36
12%4 = 48
50/5 =10



Hanuwume cnosamu:
1.8%
2.15%
3-145
4. 4,810
5.7309%
6.3933%
7.19563%



